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CBT Sample assessment model answers

Cash and Treasury Management (CTRM)

Sample assessment 2
Task 1  (8 marks)
[image: image2.png]Using the information supplied, complete period 6 of the extract of the forecast cash budget. Use minus.
signs where appropriate. 8 marks)

Receipts of cash sales 304
Receipts from trade recsivables 1261
Receiptirom disposal of non-current asset 20

Carlease payments 24





Task 2  (8 marks)
[image: image3.png](a) Using the following information, calculate the missing figures for the sales price (to 2 decimal
places) and index, using the information for December as a base. (4 marks)

Sales price (£) 7500 8400 87.50 7300 9550

Index 150,00 168.00 175.00 146.00 191.00

(b) Ifthe company was making a margin of 35% on the sales price, what was the cost price in (2 marks)

December?

‘The cost price in December was: £[45.75.

(€) In December the total monthly expenditure for the business was £315,000. How many units did the
‘company sell if the sales income matched the total monthly expenditure? (2 marks)

‘The company sold [4200 units in December to match the total monthly expenditure.






Task 3  (10 marks)
[image: image4.png]Receipts.

Receipts ffom sales 101,000) 106,050]
Insurance claim 86870

Dividend receipt 30000)
Receiptirom sale of art work 16000
Total receipts. 187870 152050
Payments

Purchases (34.240)| (36.057)]
Payroll payments to employees (54485)| (54570)|
Payments to HMRC (22400)| (22435)|
Recruitment costs of the Chief Executive (55000)|

Other operating expenses (15,045)| (18,908)]
“Total payments (181270)| (131970)|
Netcash flow 6600 20080)
‘Opening bank balance (3520)| 3080|
Closing bank balance 3080 23160)





Task 4  (10 marks)
[image: image5.png](a) Calculate the forecast purchase payments in April, May, June and July, taking advantage of the
discount on the revised payment terms. VAT can be ignored. (4 marks)

Month

Forecastpurchase payments | 303075 | 330225 | 513975 | 51397

(b) Calculate the total savings made in April, May, June and July by Watters Ltd on the revised payment
terms. (1 mark)

‘The total amount of savings made in Apri, May, June and Julyis: £ [44100





[image: image6.png]{c) Calculate the total payments made in April, May, June and July for direct labour costs, performance
‘bonus and employer's National Insurance contributions. (4 marks)

Total payments for directlabour, performance 2
bonus and employer's National Insurance 692000 7 0 1057850 812050

(d) Whatare the employer's National Insurance contributions on the overtime paid in August? (1 mark)

£ [31500





Task 5  (12 marks)

Possible reasons

Credit sales are 11% adverse

The forecast is out of date

Possible downturn in economy

Price reductions

Poor credit control

VAT receipt is 12% favourable

This might be a consequence of increase in cost of purchases and a decline in sales

Purchase of capital item

Credit purchases 15% adverse

Suppliers have increased their prices

Suppliers have been more aggressive in collecting payments

Inaccurate forecasting

Increase in wastage

Wages and Salaries 16% adverse

Redundancy pay for ten long-serving employees

Pay rise due to increase in minimum wage/living wage

Unplanned overtime used

Corrective action is to update the budget for known changes

Improve credit control

Monitor purchasing of raw materials

Control over wastage

Price check with other suppliers

Proposed procedures

The cash budget is a useful document that is used for planning.

To remain useful, it should be updated regularly for known changes.

In this case, the budget was set six months ago.

Ten employees have been made redundant as a consequence of disappointing sales.

The cash budget should have been updated for these known facts.

Had this been done, then it is probable that the cash deficit would have been predicted.

Recommend monthly review and updates.

Task 6  (32 marks)
[image: image7.png](a) Identify whether the following statements are true or false. 8 marks)

One ofthe signs of overtrading is a rapid increase in sales

Anon-iquid asset s one that cannot be converted into cash easily.

fthe average time taken for credit customers to setil their invoice v
decreases the cash operating cycle lengthens.

One of the signs of over-capitalsation s  decrease in cash.

(b) I an investment is deemed high risk, what is the expected return? (2 marks)

Low retum.

High retum

Medium retum,





Task 6  (continued)

[image: image8.png](c) Calculate the following, showing your answers to the nearest whole day. (Do NOT use minus figures). (5 marks)

“The inventory holding periodis [38 days.
The trade receivables collection periodis [114) days.
The trade payables periodis [103 days.

The cash operating cycle s [50) days.





Task 6  (continued)

[image: image9.png](d) Identify whether the following are classed as liquid assets by selecting yes or no for each item. (12 marks)

Non-current asset

Cashin current account

Inventory

Trade payables

Cashinhand

Cash in deposit account

(e) Which of the following is the correct method for calculating the cash operating cycle? (2 marks)

‘Trade receivables collection period in days, plus trade payables payment period in
days, less inventory holding period in days.

Trade receivables collection period in days, less inventory holding period in days,
less rade payables payment period in days.

Inventory holding period in ays, plus trade receivables collection period in days,
less rade payables payment period in days.

Inventory holding period in days, plus trade payables payment period in days, less
trade receivables collection in days.





Task 7  (22 marks)
[image: image10.png](a) How much interest and administration charge will be paid if option A s taken?

B

()

B

(©

Ifoption C s taken,
‘amount should be

(@

B

[20400

How much interest and administration charge will be paid if option B is taken?

48800

How much is the quarterty repayment for option B2

14400

 the company expectto have an average overdraft of £120,000 over he five years. This
‘used as the basis to calculate the interest charged on the overdraf.

How much interest and administration fee will be paid if option C is taken?

[a5750

(2 marks)

(2 marks)

(2 marks)

(2 marks)




Task 7, continued
[image: image11.png](e) Complete the accounting entry which would have been made on the day the loan was received.

Do NOT use brackets or minus signs.

o I curentsankacoomt £
e I curent oanaccoumt £
o T Lono-ermoan account £

[1260000

[126000

[1134000

(6 marks)




Task 7, continued

[image: image12.png](f) Complete the missing figures. Round your answer to the nearest £000. (6 marks)




[image: image13.png]Plant and machinery 7,945 5,261
Inventories 3,013 2420)

Trage receivables 2,099) 2140

‘Bank current account 57| (60)|

Trade payables (5.708)| (5.087)]

Other creditors (1,840)| (1638)]

‘Current portion of long-term loan 126 126
Long-term loan -045| 1071
Retained proft (4898)| (3:320)

‘Share capital (500)| (500)]
Tumover (59,705)| (57575)]
Purchases 43,552 42,650

Other operating costs 13.320) 12,565|
Long-term loan interest 57| 33|

Taxation 1.245] 1.207]

(9) Calculate the gearing for both years. Round your answer to the nearest whole percent.
Gearing 7% 8%

(2 marks)



[image: image14.png]{g) Calculate the gearing for both years. Round your answer to the nearest whole percent.

Gearing

7%

2%

2 marks}





Task 8  (18 marks)

Option 1: Bank Loan

Cost of Loan

Setup cost £300,000 x 17.5%= £52,500 

Annual interest £2,000,000 x 7.5%= £150,000

Total interest £150,000 x 2=£300,000 

Total cost of loan £352,500 


Monthly repayment is £2,300,000/24 = £95,833 

First month is £95,833 + £52,500 = £148,333 
Advantages of Loan

Generally loans can be tailored to suit the business e.g. period, repayment schedule and interest rates 

Generally lower interest rates than other finance options 

The repayments are fixed so good for budgeting purposes 

Payment holidays may be allowed 
Disadvantages of Loan

Interest charged on the initial loan balance so no account taken of payments made.
Penalties for early repayment 
Security may be needed 

Covenants may be needed 

Charge may be placed on asset or asset(s) 

Accounting Treatment

The setup fee and interest for year 1 will be charged to the statement of profit or loss in year 1 and the interest for year 2 will be charged to the statement of profit or loss in year 2. 

The credit rating may suffer 
The balance of the loan will be split between current liabilities 

and non-current liabilities in the statement of financial position. 

Only the current liability amount will have a bearing on the liquidity ratio. 

The total amount of the balance outstanding on the loan will be included in the gearing calculation. 

The gearing of the company will increase which could affect the company’s ability to raise additional finance. 

Option 2 Invoice Factoring
Will increase non-current asset levels by £2m in the statement of financial position.
Initial cost to the company £500,000 (20% 0.5/2.5) 

Invoice (debt) factoring is a way of raising finance quickly by selling your trade receivables/unpaid invoices to a debt factoring company. 
The factor will pay the company to take on your outstanding invoices. 
Typically they would pay 85% of the invoice values immediately. 
The factor manages the sales ledger and chasing of the payment. 
Suppliers are aware the credit control has been outsourced.

There are two types namely recourse and non-recourse. 
Recourse factoring is where the company retains the risk of bad debts. 
Recourse factoring is cheaper. 
Non-recourse factoring is where the factor takes on the risk of bad debts. 
Non-recourse factoring is more expensive 

Advantages of Invoice Factoring 

Obtain cash quickly 

Secures more cash than an overdraft based on outstanding invoices (usually 50%) 

Reduces time and cost spend on credit control/debt collection 

Disadvantages of Invoice Factoring 

Fee charged for factoring 
Factor takes over sales ledger 

Damage to customer relationships 

Alerts customers that there may be cash flow problems in the business 

Factor may impose constraints on the way you do business 

Ending a factoring arrangement could be difficult 

Accounting Treatment

Factoring fees will be recorded as an expense in the statement of profit or loss.

With non-recourse factoring any debts not collected will be borne by the factor. 
With recourse factoring any irrecoverable debts will be borne by the business and written off to the statement of profit or loss. 
Option 3 Operating Lease

Cost of Operating Lease

Annual lease rental payments £1,250,000 
Monthly repayment is £1,250,000/12 = £104,167 

Total costs is £2,500,000 over the 2 years 

The lease term is not given and therefore the total costs are unknown. However as the asset is an operating lease it implies there is a useful economic life of the asset post lease term. 

Advantages of Operating Lease

Off balance sheet 
No effect to gearing or liquidity

Disadvantages of Operating Lease

Possibility of paying for asset twice and therefore costs the business more 

No ownership of asset 

Commitment to make payments over lease term 
Risk and reward remains with lessor 

Accounting Treatment

The lease rental of £1.25m per annum will be charged to the statement of profit or loss. 

There will be no entries in the statement of financial position for the operating lease. 
but has to be shown in a note detailing the non-cancellable annual commitments 

The operating lease is off balance sheet and the gearing will be unaffected. 
Therefore the total debt on the balance sheet will be unaffected by the lease 

but a competent credit risk analyst will consider the size of the lease commitment and estimate a revised gearing position including the operating lease as finance. 

There will be no entry in current liabilities and the liquidity will be unaffected. 
Task 9  (22 marks)
[image: image15.png](a) Answer the following questions based on the information above.

(i) How much interestis eamed if option (1) is chosen?

The interest eamedis: £ [5000

(i) How much interestis eamed if option (2) is chosen?

The interest eamedis: £ [3000

(b) Which of following is not true of local authority stock?

The market for local authoriy stock is smaller than the market for central government stock.

Itis a debt security issued by a local government to raise funds for the payment of wages.

Local authority stockis considered a higherrisk than government stock.

Itis a debt security issued by a local authorityto raise funds for infrastructure projects

(4 marks)

(2 marks)





Task 9  (continued)
[image: image16.png](c) Whatis the market price of the stock? (2 marks)

The market price of the 1.25% treasury stockis: £ [125

Aninvestor bought 9,000 shares when the share price was £1.10p per share. The shares were sold nine
months later at a gross profit of £1,800

(d) What was the selling price per share? (2 marks)

The seling price per share was: £ [13

(€) List the following items in the generally accepted order of risk, putting the least risky item first. 8 marks)

_ trems

[UK Government gits

[Bank deposit account

[Shares in a FTSE 100 company

[Unquoted shares





Task 9  (continued)
[image: image17.png](N Calculate the expected return for the portfolio. Show your answer to one decimal place. (2 marks)

The expected retur for e portiolio is [3 %

The manager of the portolio has cashed in investment A

(0) Calculate the revised expected return for the now reduced portfolio. Show your answer to one
decimal place. (2 marks)

The revised expected return forthe porfoliois [2.4 %






Task 10  (18 marks)

1. Current Account

The amount on interest receivable on the current account is £64,000 per annum. 
5-year return £320,000
Low risk 

Low return 

High liquidity 
2. Fixed Rate Account 

The amount on interest receivable on the fixed rate account is £384,000 per annum. 
5-year return £1,920,000 

Low risk

High return (guaranteed) 

High liquidity – maybe penalties for early withdrawal 
3. Deposit Account

The amount on interest receivable on the deposit account is £176,000 per annum. 
5-year return £880,000 

Low risk

Low return

High liquidity – penalties for early withdrawal 
4. Treasury Stock

The amount on interest receivable on the current account is £480,000 per annum. 
5-year return £2,400,000 

Low risk 

High return 

High liquidity
Issued by government 

Can be traded 

5. Certificates of Deposit

The amount on interest receivable on the current account is £640,000 per annum.
5-year return £3,200,000 

Low risk 

High return 

High liquidity 
Issued by banks/building societies 

Can be traded 

Best return 

Recommendation

The optimal solution, based purely on monetary values, is to invest in the Certificates of Deposit 
However, give marks if students mention that following recent banking disasters it may be more prudent to invest in the Treasury Stock as this is less risky 

The notes below cover a range of possible points that you may include in your written response.


These examples are not intended to be exhaustive and other valid comments may be relevant.
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